C:h Rewriting Expressions Name:

Rewrite each expression in itssimplest form. Answers
V(T 13) - (YT + 10) .
2
D (Y%K - 20) - (K +17) :
4.
¥ (Yc-15)-(VpC-16) 5
6.
K -(4/5A+2)+(3/15A+4) 7.
8.
Y (YH-19) + (YyH +11) 0
10.
6)

-(2/7F'3)'(]/7F+12)

" Sz-2)-(Ziz-9)

¥ (YEr11)-(YE-3)

? (6/15R+17)+(]/5R+15)

O Y-8y - (Y -15)
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ﬂh Rewriting Expressions Name:. Answer Key

Rewrite each expression in itssimplest form. Answers
K (7T +13) - (VpgT +10) 1 5/on+3
T + 13- V0T - 10 L /K37
7 YooK -20) - (/e +17) 3 /041
oK - 20 - YooK - 17 L S A2
K (74C-15) - (/1,C- 16) o /xHSB
,C-15-7,C+16 . JF9
Y Tar2y+ (VA +a) . /2
'12/15A -2+ 3/15A +4 8. '2/14E'8
D (YogH-19) + (ZygH +11) o SR
-10/20|—| +19+ 4/20H +11 0 1/3V+7
¥ (ZE-3)-(YEr12)
Y F+3-7F-12
" (Fz-2)-Fiz-9)
—6/82+2—4782+9
¥ (YEr11)-(YE-3)
VuE-11- T E+3
K (6/15R+ 17) +( 1/5R+ 15)
YR +17+ /1R + 15
O Y-8y - (Y -15)
JN -8- 7oV +15
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